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If a,b,c,d,e,f are sequentially the term of

1,2 (1 v,$ 0.9 J an A.P. belong to set (1,2,3....9), where
rRN "’ / 3,‘1 all the terms a,b,c....are in increasing

2 'DHC dGC { order, then the last digit of ab x cd x ef is
y % a,b,c,d,e,f Uh, JIHAd ©U 4 Thl &I
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While typing the numbers from 600 {4;0
99, a typist typed 8 whenever he was
q type 6. So, the total number of times

is has typed 8 is
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If x and y are the two digits of the
number 653xy such that this number is
divisible by 80, thenx +y =7?

693 Y afy x 3R y GE&IT 653xy @ d 3Ad I

yeR & b I8 9@ 80 9 fawrsy 2, @l x
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How many natural numbers are there
between 261 and 145109

361 L/jﬁ_\/z_e\l_aﬁ?/ V45109 & d19 ¥ foa wga
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If n is a natural number, then Jn is

. afd n TP Wipd G&AT &, @ Vn
N l ‘} H,‘S,le—+ ch/\ (a) always a natural no

(b) always a rational no

13)‘5}:"-—) iWM (c) always an irrational no ?ﬁw

JA’)} sometimes natural no.
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How many rational numbers are there
between any two distinct rational
numbers:-

fol =1 yRAg =gl @ = fead

Reiorad > 22wt wie 2

(a) one (b) two
(c) three (d) infinite
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A 107 digit number is formed by writing
first 58 natural numbers next to each
other. Find the remainder when number
is divided by 8.
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If the number 481x673 is completely
divisible by 9, then the square of the
smallest whole number in place of x is

afs wenm 481x673, 9 ¥ yofa: fawrsy 2,
dl x @ WM R 99 BI QUi g1 &1 99
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(a) 4 (b) 25
(c) 36 49
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A boy multiplied 987 by a certain
number and obtained 559981 as his

— . If in th both 9
,___9_3_})(1"53”(3’ answer in the answer both_9 are

wrong and the other digits are correct,
gx ng then the correct answer would be:

Udh dsd 1 987 &I s fAl™a wwar | on

XANE fear 3 S¥d ST @ WU § 559981 W
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(a) 553681 % (b) 555181 )
555681 d) 556581
t/“' ) 556381
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What is the rightmost integer of the
expression 6577675% + 54697467

AP 6577675 + 546974G T WU QIfRl
QUi 47 87
(a) 3 (b) 5

(c) 7 ym



What should be the maximum value of Q
in the following equation?

freforfaa wfiexer & Qo1 Afdad A
YL A1feT?
5P9-7Q2+9R6=823

(a) 5 (b) 6
AT (d) 9
00+ 10(P+R-Q) +\3=3423
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_ (319) (c) -4

If -1<a<2and 1 £ b £ 3 then least

possible value of (2a-3b) is
Ife -1<a<23AR 1<b < 3dl (2a-3b) &I

AdH GHT A 2

df -11 (b) -3

(d) -S



If a = 4011 and b = 3989 then value of
ab="7?
afed a = 4011 3R b = 3989 dl ab &1 HI

= if
\/m’ 15999879 (b) 15899879
(c) 1589079 (d) 15998879
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Find the difference between
3 6 7 5 8

/—\5’11’18’16’11 second lowest &
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An expression is givelqa -(ga)-IO) (a-15)...
(a-S)@-—ID) (Q-"S). . i (a-gu) and so on till (a-60). Finc{‘ the coefficient
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A% Wergp ety @ T 2 (a-10) (a-15) ¥ g
—(SHot ..gs)  TF (60) T al'aT iH 1 A

@) -390 (b) 340 ¢y

"5[I+2+ wedT.) (c) -360 (d) 390
*-5(4%)“3\ (n-4) 0k 5’):% —_)."'li‘z_""
X = N («+B)xt« B
e @ Oeepp T\

= W (Y ) ( )n



If A = 0.142857142857 and B =
0.16666 then what is the value of

l
7
= 0.142857142857 3R B =
0.16666 8, dl A+B/AB &1 A1 &
B
(a) 10 (b) 11



If the number 52a2b divisible by 90,
then find the minimum value of a2+h?2

Jfs wEar 52a2b 90 @ ey @, a1 a2+b?
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(a) 81 (b) O
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If the expression x3 + 3x?2+ 4x + k has a
factor x + 5, then what is the value of
K?

i Aoid x3 + 3x2+ 4x + k P [UFES x
+5%, @ K & 919 §71 287

H=-S (a) -70 AT70

(c) 48 (d) -48
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If 13 + 23 + 33 +,,.+ 93 = 2025, then the
value of (0.11)3 + (0.22)3 + (0.33)3 +...+
(0.99)3 is close to

gfe 13 + 23 + 33 +,.+ 93 = 2025, dl
(0.11)3 + (0.22)3 + (0.33)3 +...+ (0.99)3 BT

% 7+ feas a9
(0'“)3 [""2}4 34 - "73] (a) 0.2695 (b) 0.3695\)

(c)2.695 (d) 3.695
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If the greatest number of 6 digit 435alb
is divisible by 45 then find the value of
101a + 99b

afe 6 Al HI g9d E_l T 435alb, 45

4 faursg 2, @ 101a + 99b &T A SITd
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(a) 1495 (b) 1365
(c) 1415 ] 1404
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A boy was asked to find Eth of a

fraction. He made a mistake of dividing

the fraction by g and so got answer

which exceeds the correct answer by

i . Find the original fraction?
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If Z%is subtracted from 3% and

difference is multiplied by 112 then
what will be the final number?

Hﬁsgﬁﬁmm2%mﬁﬂmﬁ

112 9 7o fear g, ot Sifow a@ar q@an
glifl?
06 (b) 102

(c) 90 @ (d) 112
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Find the value of —E+31—1+§.
7 13 9
k [UE PN SRS———
2 11 5
4 - 33— —
i 13 9
169 171
(@) —— (b) ——
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If LCM = 252, HCF = 14 and one of the
number is 28 then by what percentage
is the other number more than 287

gfe @gaw  guuad = 252, #Edd
126 quad® = 14 AR TH GE&AT 28 B, @ A
W= i 26 9 focd s v 29
4-‘\? ef 350% (b) 310%
(c) 340% (d) 330%
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The sum of the perfect squares between
82 and 172 is.
82 3R 172 @ g qof quf &1 AT B

(a) 365 (b) 615
_Jot 534 (d) 254
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A number ‘a’ divides 1320 and 781
exactly. Given a # 1 then the number ‘a’

is not a factor of

Uh U1 ‘a’ 1320 AR 781 &I Y RE
femforg ot 81 a# 1 fear 2 af 9@ ‘a’
&1 [UHEETS T8l ©

(a) 2101 (b) itself

(c) 539 (d) 125






